
Слагаемые.
Сумма



7

3

41
8 2
5 9
+1



10

7

69
4 3
5 8

-1



3 -

- 2

8

1

-2- 2

2 = 1

7 = 5

6 = 4

+ 2 = 10

10 - = 9

8 = 6



Вычисли

Молодцы!



6



7

3+2=5
3- 
слагаемое
2-слагаемое
5-сумма
3+2-суммаСумма чисел 3 и 2 равна 

5Назовите первое и второе слагаемые в 
каждой сумме и вычислите эти суммы

4+2=
□

3+1=
□

5+1=
□







10

2 + 2 
=

0 + 2 =

4 + 2 
=

6 – 
2 =

9 – 
2 =

7 – 
2 =

10 -  
=8

 - 2 
=6

Самостоятельная работа

1+1      2+1      2+2     3+1     3+2     4+1  



6 к. 2 к.

? к.
6 + 2 = 8 (к.)

Ответ: 8 
книг.



3 с.

1 с.? с.
3 – 1 = 2 (с.)
Ответ: 2 собачки.






